zHD and zCD Extractor Tool

zHD and zCD m OI ex

Connector Assembly
Installation PT :
Extractor Tool Appll.c ?tlo.n Tooling
Specification Sheet
Order No. 62203-0750
FEATURES

= Removes the zHD or zCD connector assembly from the PCB
= Removes connector from the PCB without damage to the board
= Use tool 62203-0700 for inserting connectors

SCOPE

Products: zHD and zCD 16X connector assemblies. See Product List below for specific part numbers.

Product List
The following is a partial list of the product order numbers and their specifications this tool is designed to run.
Updates to this list are available on www.molex.com.

Connector Series No. Assembly Order No.
170834 170834-0001 | 170834-0002 | 170834-0012 | 170834-0013
Tool Setup zHD CONNECTOR
ASSEMBLY

The tooling arrangement in this removal tool is
determined by the module and component
placement on the PCB.

There is a “Keep-Out Zone” that needs to be
clear of the other components when using some
of the tool arrangements. See Figure 1. For
more information see Molex drawing number
SD-170834-0001.

4.0mm
MINIMUM

Note: Be sure that all parts of the removal tool
will clear any components on the printed circuit
board during use. See correct tooling set-up
figures below. Tape may also be placed over

Figure 1

circuit traces or on the bottom of the side plate Mﬁﬂ%‘m
for added protection of the printed circuit board. (BOTH SIDES)

To prevent damage to the adjacent modules in the PC Board the correct position of the (2) side plates must
be used. See Figures 6 and 7 for correct use of PCB side plates with positioned modules.

Doc. No: ATS-622030750  Release Date: 04-20-12 UNCONTROLLED COPY Page 1 of 4
Revision: B Revision Date: 04-07-14



zHD and zCD Extractor Tool

Warning: M2 screws must be removed before removing the connector.

Three (3) M2 screws hold the connector assembly to the printed circuit board. Before any removal operation is
done these screws must be removed. See Figure 2. The heat sink

and cover, if used, must also be removed in order for the tool to fit. CONNECTOR ASSEMBLY

Operation

1. Disassemble the (2) halves as delivered by unscrewing the screws
on the top of the “upper tooling”.

2. Unscrew the (2) M4 x 8 BHCS from the front lift place on the
support tooling and set aside.

3. Depending on if there are connector assemblies on either side of
the connector to be removed, position the side plates as shown in
Figure 5, Figure 7, or Figure 8. Figure 2

4. Insert the support block assembly into the connector assembly

until it is fully seated. See Figure 4. M2 SCREWS

Reattach the front lift plate to the back of the support block using the (2) M4 BHCS but to not tighten.

6. Make sure the front lift plate two protruded feet engage in the two slots of the connector assembly before
tightening the M4 screws. Some adjustments by hand of the support block assembly may be necessary to
engage the lift plate feet into the connector assembly slots.

o

SLIDE
r»
REMOVETHE _ '~
SCREWSAND () U
WASHERS . o=
REMOVE UPPER SIDE PLATE (2) \ 4 PCB
TOOLING " ORIENTATION A
SUPPORT BLOCK SN D)
A (INSERT) % <
@‘% SUPPORT BLOCK M4 X 3 LONG
(FULLY SEATED) & BHCS (2)
‘ M4 X 8 LONG
SLIDE UP j / BHCS (2)
PLATE
~° \ PLATE
SUPPORT _
TOOLING Figure 4
Figure 3 CONNECTOR

ASSEMBLY

7. Place the top removal assembly over the support block and the connector assembly, aligning the front tab of
the top removal assembly with the front edge of the support block. See Figure 5.

8. Now place the washers and screws into the holes in the top removal assembly and turn until seated on the
top plate, using a 4mm hex wrench to tighten the screws.

Doc. No: ATS-622030750  Release Date: 04-20-12 UNCONTROLLED COPY Page 2 of 4
Revision: B Revision Date: 04-07-14




zHD and zCD Extractor Tool

9. Tighten each screw, one turn in an alternating pattern until the connector assembly is removed from the PCB.

See Figure 6.
r"w
SCREWS AND \ U
WASHERS
SUPPORT TOOLING

TOP REMOVAL 5 L1 L1
ASSEMBLY

= \
%
SIDE PLATE (2)
FRONT TAB | 2, ORIENTATION o
SUPPORT J \ |
TOOLING CONNECTOR
ASSEMBLY REMOVED PCB
Figure 6

Connector Assemblies Removal (With Connector Assemblies on Both sides)

SPACER PLATE RESTING ON TOP OF THE ADJACENT
CONNECTOR ASSEMBLY (BOTH SIDES)

CONNECTOR
ASSEMBLY

SPACER PLATE — ;PACER PLATE
C&g’ﬁg&*‘ [ ] CONNECTOR
i@ @l ASSEMBLY
% — =
I ]
ASSEMBLY — —| |- ASSEMBLY
SPACING —— = SPACING
CONNECTOR FRONT LIFT PLATE 2.0 Minimum BACK VIEW 2.0 Minimum
ASSEMBLY PROTRUDED FEET INSIDE
THE SLOT OF CONNECTOR Figure 7

Figure 7 shows the allowable spacing between zHD connector assemblies; using the (2) Side Plate rotated 90c.

Use the correct position of the side plates if the connector assemblies are 2.0mm apart shown in Figure 6. This

connector assembly arrangement allows the side plates to rest on the top surface of the adjacent connector
assembly on both sides.

Doc. No: ATS-622030750 Release Date: 04-20-12 UNCONTROLLED COPY
Revision: B Revision Date: 04-07-14

Page 3 of 4



zHD and zCD Extractor Tool

Connector Assemblies Removal
(With Connector Assemblies on one side)

Figure 8 shows the allowable spacing between zHD connector assemblies, using the (2) Side Plate.

Use the correct position of the side plates if the connector assemblies are 2.0mm apart shown in Figure 7. This
connector assembly arrangement allows one the side plates (rotated 90°) to rest on the top surface of the adjacent
connector assembly and one side plate to rest on the PCB.

SPACER PLATE RESTING
ON TOP OF THE ADJACENT
CONNECTOR ASSEMBLY rij

R

CONNECTOR

CONNECTOR SPACER PLATE
ASSEMBLIES RESTING ON
Ve THE PCB

dddy

]
NNECTOR ASSEMBLY
ASSEMBLY SPACING

2.0 Minimum

SPACER PLATE BACK VIEW
RESTING ON THE PCB

I

«Q

S

(1]

o
===

| CAUTION: Molex application tooling specifications are valid only when used with Molex connectors and tooling.

Contact Information
For more information on Molex application tooling please contact Molex at 1-800-786-6539.

http://www.molex.com

Doc. No: ATS-622030750  Release Date: 04-20-12 UNCONTROLLED COPY Page 4 of 4
Revision: B Revision Date: 04-07-14



CraHpapT
INeKTpPOoH
ﬂ CBAA3b

Mbl MOf04aA M aKTUBHO Pa3BMBAIOLLAACA KOMMAHWA B 061acTM  MOCTaBOK
3NEKTPOHHbIX KOMMOHEHTOB. Mbl NOCTAaBASEM  3/IEKTPOHHbIE  KOMMOHEHTbI
OTEYEeCTBEHHOIrO U MMMOPTHOIO NMPOWU3BOACTBA HAMPAMYIO OT NPOU3BOAMUTENEN U C
KpYMHEMLWKNX CKNaZ0B MUpa.

Enaro,a,apﬂ coTpygHn4ecTtesy C MMpPOBbIMU NOCTaBWMKaMWN Mbl OCYLLECTBIAEM
KOMMNNEKCHbIE N NN1aHOBblE MNMOCTABKU LumpoqaﬁLuero CNEeKTpa 3/1EKTPOHHbIX
KOMMOHEHTOB.

CobcTtBeHHan 3¢p@eKTUBHAA NOrMCTUKA M CKNag B obecneunBaeT HageKHYHo
MOCTaBKy MNPOAYKLMM B TOYHO YKa3aHHble CPOKM Mo Bcel Poccum.

Mbl ocyuiecTBisem TEXHUYECKYI0 MNOALEPKKY HAWWM  K/IMEHTaMm U
npeanpoaaxkHyto NPOBEPKY KayecTsa NpoayKumu. Ha Bce noctaBnsiemble NpoAyKTbl
Mbl MPEAOCTaBASEM TFAPaAHTUIO .

OcyuwiectBndem nNOCTaBKM NpoOAYKUMM nog, KoHTponem Bl MO PO Ha
npeanpuATUA BOEHHO-NPOMbIWIEHHOTO KoMnaekca Poccuun , a TakKe paboTtaem B
pamkax 275 ®3 c OTKpbITUEM OTAE/bHbIX CHETOB B YNONHOMOYEHHOM BaHKe. Cuctema
MeHeXMeHTa KayecTBa KomnaHum cooTBeTcTByeT TpeboBaHuam FOCT ISO 9001.

MWHUMaNbHbIE  CPOKM  MNOCTAaBKW, TMOKME  UeHbl, HeorpaHWYeHHbIN
aCCOPTUMEHT UM WHAMBMAYANbHbLIN MNOAXOA K KAMEHTaM ABAAIOTCA OCHOBOW ANA
BbICTPAMBaHMA A0FOCPOYHOIO M 3GPEKTUBHOIO COTPYAHMYECTBA C NPEeANPUATUAMM
PaANO3NEKTPOHHOMW NPOMBIWAEHHOCTU, NPEeanPUATUAMM BMNK u HayuHo-
nccnenoBaTeNbCKUMKU MHCTUTYTaMm Poccun.

C Hamu Bbl CTAaHOBMUTECH elle ycnewHee!

[HaLLIM KOHTAKTbI: \

TenedoH: +7 812 627 14 35

dNeKTpPOHHaA nouTa: sales@st-electron.ru

Appec: 198099, CaHkT-MNeTepbypr,
MpomblwneHHasa yn, gom Ne 19, nutepa H,
nometleHune 100-H Oduc 331

\_

J



mailto:sales@st-electron.ru

